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QUESTION 1

When router receives two instances of one LSA at the same time, it will first compare LS age, If same ,Uien compare LS
Sequence number.

A. True
B. False

Correct Answer: B

QUESTION 2

Policy-based Routing can be used for traffic classification and marking when deploying QoS. Classification can be made
based on ACL and packet length, marking can be made by modifying DSCP or IP Precedence field of packet.

A. True
B. False

Correct Answer: A

QUESTION 3

Administrators can change the priorities of default zones in the firewall as required.
A. True

B. False

Correct Answer: B

QUESTION 4

Interface-based ACLs define rules based on inbound interfaces of packets to filter packets. Run the "traffic-filter
command to invoke the ACL.

A. True
B. False

Correct Answer: A

QUESTION 5

Which of the following statements regarding multicast MAC address is correct?
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A. The first six hexadecimal value of the multicast Mac address is 0x01005e.
B. Multicast MAC address is composed of 23 bits.
C. The range of multicast MAC address is assigned by IEEE.

D. On Ethernet, 28-bits of layer 3 multicast IP address are mapped into the 24-bits of the layer 2 multicast MAC
address.

Correct Answer: B
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